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H2

f The number of protone, neutrons and e in
17h T' e eggrone 4
7 Lu . respectively, sre

(1)_175, 104 and 71

’j‘b 71. 104 and 71
; M4, T1and 71
(4) 7L 71 and 104
- The following metal ion activates many ens e, |
participates in the oxidation of to producr
ATP and with Na, 1s responsible for the
{fansmission of nervesaignals
(1) Potassium
4] Iron
(1) Copper
4 Caldum

" nmnamrmwuﬁmmm

monoxide ?
(1) It is produced due to incomplete combustion.
(2 It forme carboxyhaemoglobin.

Itndmurpnmn'hiﬁwdﬂyﬂ

The carboxyhaemoglobin (hasmoglobin
bound to CO) is lees stable than

M

4

Which ane of the followings has maxisum number
of atoms ?

(1) 1 g of Li(s) [ﬁm:mdusﬂ
_,,ﬁrllﬂfﬁlfﬂ[ﬁlﬂtmdnnlﬂ]
@ 1 g of Mg(s) [Atomic mass of Mg =24]

) l[ufﬂ,[ﬂum-:-dﬂ-lﬂ

%wwh“mwi:

y  Column chromatography
o Adsorption chromatography
Mﬁmw
Thin layer chromatography
e mgmmmﬂwﬂﬁ“*
) P*M-M
@  cis-14-polyisoprens
@ WM
4  polybutadiens

2

}//Thu mixture which shows positive deviation from
R.(Waw s
/ Chloroethane + Bromoethane
[+ .4] Fihano! + Aostone
Benzene + Toluene

(£ 1] Acetone + U hloroform

-
B The caloulated spin only magnetse moment of Cr?
Vo 1s -

1) ZIs4BM
cfﬁ';l J8TBM
H  49RBM
4y 592BM

fhmrﬁ-ryhutﬂurbnﬂumummhhmml
s secondary butyl carbocation because of which o
the following 7

_,(H"Hypermumhm

@  -=1effectof - CHygroups

(@ 4 Reffect of ~ CHygroups

(@) — Reffectof — CHygroupa

mwhﬁuupln-ﬂﬂandul

gas under i ition ia :

(n q>0,AT>Cand w >0
M-ﬂ.i’f-ﬂuﬂ'-ﬂ

(k) qtﬂ,ﬁT“'ﬂlﬂ""“

“ 111 ﬂTIﬂﬂl.'n

O

2
B
C
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12 ldentify _lhe COrrect statements from the
m)  COug i :
.dﬂlillu:liu refrigerant for ior-crvam
it

The structury of ¢,
o Containg twelve s
mﬁmmt“nwnifﬂlhmnn“

N gasnoline
@  COiscolorless and odourless gus
M) (c) and (d) only
@ (a, () and (c) only
@ (w)and (c) only
W (b)and (c) only

)/Wlmhunlu following i the correct arder of
increasing field strength of higands to form

coordination compounds 7

() CN <Cy0f<SCN™ <F
@ SCN <F <G00 <CN°
@ SCON <F <CN™ <Cy0f

./I/Hrd:mlyﬁl of sucrose i given by the following
reaction.
Sucrose + H,0 = Glucose + Fructose

If the equilibrium constant (K,) is 2x10'" mt
300 K, the value of A G at the same temperature
will be :

() —8314Jmol™ 'K~ ! x 300 K x Ini4x 10'%
_,ﬁ, - 8.314J mol ~ 'K~ ! x 200 K x Ini2 x 10"
@ 8314 mol~ 1K~V %300 K x In(2 x 101
4)  8.514J mol~ 'K "1 x 300 K x Indx 10'%)

(m), ()

_,L:/:,muumm

Name JUPAC Official Name
(@) Unniumium ()  Mendelevium
)  Unniltrium Gi)  Lawrencum
(& Unnilbexium () Seaborgum
i tiv) Darmstadtium
g:mm
@® o6 _

9 (), (ui

H2
,ﬁ/ Anuscle on cleavage with Hi gives

I
‘a +C H,OH
OH
I
3 + CH,OH
OH
™ + oyl

DI Ldentity

following

1) Pig tron can be moulded into & vanety of
shapes

Wrought iron is impure iron with
4% earbon.

Blister copper has blistered appearance due
to evolution of CO,

Vapour phase refining is carned out for
Nickel by Van Arkel mothod.

the correct statement from the

(i

s o

For the reaction, 2C1(g) —+ Clyig), the_corzact
option s

M AH<OandAS<0
@ AH>0andAS>0
M AH>0andAS<0

H

cn.ﬂlrﬂ.:-ﬂ
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H2
9'/ The process

mhﬂhnﬁ_m:m::ﬁ ‘
‘“‘"—ﬁ“'ﬂhmp

() Plasgmolysis

@ Tranepestion

@ Root pressure

4 Imbibition

_D/ Identify the wrong statement with reference to
the gene ‘T that controls ABO blood groups

Allele 7 does not produce any sugsr
The gene (1) has three alleles

nmmllh'n' l'udlh- ,

Whni"ndllmp-tupthtm:
m-nr-d-p .
Disaclution of the synaptonemal complex oocure
dunag

() Leptotens

@ Packytens

@ Zygotene

4 Deplotens

1)
(r <]
(& 1]

®

570 Select the option including all sexunlly transmisied

i anes

(1)  Cancer, AIDS, Syphilia
Gonorrhoen, Syphilis, Genital herpes
Gonorrhosa, Malaria, Genital herpes
AIDS, Malaria, Filaria

58 ¢ %

Whuch of the fallowing s put into Anserchic sludge

h—rkhﬂu“mﬁm

M  Amtiveted sludge

2y Primary dudge

@), Pleating debris

{ﬁ-t Efffuents of prumary treatmendt

Whach of the following statements are true for

the phyhum-Chordata ?

w  In Urechordats notochord extends from
head to tadl and it s present throughout

Identify the category of plant and its part -
(1)  Dicotyledonous root

@  Monocotyledonous stem

®  Monocotyledonous root

@  Dicotyledonous stem

hﬂ-ﬂmlmhﬂm
“mumwm nd Mar

bt

their life
In Vertebrata notochord 1s presept during
ﬂ-u-hhdtp-hh’

ich w nervous system is dorsal and

id) Chordata is divided into 3 subphyla :
Hemichordata,  Tunicata  and
Cephalochordata

() (b)and ic)

@ (endfe) <

@ (dandim) .

@ (a)and (W

L

" “ﬂ_
- i Wi iads
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!ﬂf'! Match the follow ing columne snd select the
COTrect apbon i
Column - | Column - [}
ind T cotion ] Uit Uhis rapy
b Aderosne W Celhdar defenos
e i innsy
deficie ney
() RNAs (m) Detection of HIV
& rtfetaan
id  PCH vl Booillus
thuringiensis
(a) by (e} )
in ) dw)  Ow
@ o @ W GE)
@ @ G @ aw
W @ W v @

‘/ According to Robert May. the global prcies
diversity 1s about :

_(.H’;v T mallion

1.5 mllion

@ 20 mullion

4 B0 million

/thmhhm:

(1} Exonucleases-  Muke culs at specific
posations within DNA
molecules

@, Polymerases - Break the DNA wnto
fragments

(4 Nucleases -  Soparute the twostrands
ol DINA

They cut the strand of DNA at palidromic
e,

- H2
ﬁ Match the organs with its use in

otechmnology
im)  Foriflics {w Cloning vector
thurngiensis I
b Thermus )  Constructsm of
LN T T furst ridNA
mdrule
ich Agroborterum {:u:| g IH:M polvmsrase
tumefoaciens
il Salmonello Cry proteins

i
l‘;!p'umul'lun
Belect the correct option from the following

(a) (B ()
i wd v W (u)
@ v G )
M vy o (V1]
(0 e W v @
p/ Match the following columns and select the
1 correct option
Column -1 Column - 11
)  Organof Corta W Connects middle
ear and pharynx
b  Cochlea @ Coied parvolghe
labyrinth
e Eustachiantube (u)  Attached to the
oval window
i Suapes v  Located on the
banilar
membriune
my b (@ @
n & @& ™ @
& o @ o® W
@ @ @© 6 @
@ ™ @ & ()

’/"ﬂﬂﬂﬂm i a standard ECG represents -
() Repolarsation of ventricles
@  Repolarsation of auncles
¥ Depolansstion of auricles

Depolansation of ventricles
Iduntify the substances having i bend and
respectively i their structurs
Inulin, insulin

@  Chitin, cholesterol
@  Glycerol, trypain
@ Cellubose, becithin

." They are useful in genetic engineening
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10

Mwmum fnllowing regions of the globe exhibits ‘_jl/ If the head of cockroach w removed, it may ]"‘5!

highest species diversity ¥
M) Amazon forests
2 Western Ghata of India
C @  Madagnscar
(49 Himalayas
-?/ Match the following columns and select the
correct ophon.
Colummn - | Column - 11
(a) Placenta EJ/ Androgens
) Zooapellusds (i) HumanChononic
Gonadotropan
(h(CG)
© Bulbourethral (@) Layerofthe ovum
glands
@ Leydigoells @ Lubrication of the
Perus
@) (b) @ &
@ @ v @
@ v ) @ @
@ O v W
@ G @ ™ O
L Match the following columns and select the
correct optwon.
Column - | Column -[1
(a) Piuitarygland @), Grave'sdiseass
() Thyrsdgland (i) Diabetes mellitus
@ Pancreas Gv) Addisor's disease
() (b) ()
m @ ® v G
@ @O
@ G @ @
@ 6o ®© v o
/y/ Which of the th:;dheg-qrp@w
y"l’m-umrhi#-dd

few days becausa :
y the head holds a 1/3™ of a RETVOUS Ky stey
while the rest 1 situated along the dorg

part of its body.

® the supra-oesophagenl ganglia of Ly
cockroach are situated in ventral part ¢
abdomen

W) thuﬂmdndm-ndhwmm

(§,  the head holds a small proportion of & nervey,
system while the rest is situated along th,
vemtral part of its body.

MWWM

in one turn of citric cycle is : '

M) Three

2 Zero

3 One

@ Two

J@ The process of growth 1s maximum during :
(1) Dormancy
(2)  Logphase
./ﬁ/ Lag phase
(4 Senescence

77 How many true breeding pea plant vanetics i
@ Mendel select as pairs, which were similar ¢ xog!
in one ¢ contrasting tras ?

(
2)

M 2

e

28 In gel electrophoresis, separated DNA fragmes?

*  can be visualized with the help of :

-_‘jlf Ethidium bromide in infrared radiaticn
(#) Acetocarmine in bright blue Light
@  Ethidium bromide in UV radiation
(4) Acetocarmine in UV radistion

L]
4

‘-14 |dentify the basic amino acd from the followi®

(1)  Valine

@  Tyrowne
..-{ Glutamuc Aad

M  Lywne
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y," Match the following with respect to meiosis -

n) Lygotene (3

b} Pachytene ()
ey Diplotene  ig)
(@)  Dinlanesis (jv)

(a) (b)) (o)
m , @ v G
/Lm/ (w) Miv)
o v o (w
4 M ) Ovh

Match the following diseases with the causative

Terminalization
Chiasmata

Crossing over

Synupsis
Select the correct option from the following

(d)
w
(i)
(1]
(i)

organsm and select the correct option.

Column - |
(m)  Typhoid
(b  Preumons
i) Filanagis
(d Malaria
() (b) (e)

Select the correct option ;
W ) © @
m v ® 6 G
@ G ® Gv 6
m v @ @ O
W ) v @ @

Column -1
Wucherernia

11 H2

tlriulhwmg would belp in prevention of
—

Decrease m secretion of remn by JG enlls

I;EI- More water reabsorption dues to
€ undersecretion of ADH

Reabeorption of Na * and water from renal
tubules due to aldgeterone

(4} Atrtal natriuretic factor causes
VRsOCORALTICTOn

,{S:f_w:ﬁw-in' &ic region)s due to

i1 Damage W reting caused by infra-red rays

\.ﬂf" Freezing of NMuids in Lhr eye by low
temperature :

Inflammation of cornes doee 1o high dose of
LU'V-B radintion

i4) High reflection of Light from snaw

-# Bt cotton variety that was developed by the
introduction of toxin gene of Bacillus thunnguenss

(Bt) is resistapt to
-ﬁ;v‘ Insect predators

(Z)  Insect pests

@  Fungal diseases

@  Plant nematodes

’{ Select the correct eventa that occur during
s |

fa) Contrsction of diaphragm

(b  Comtraction of external inter-costal muscles
ic) Pulmonury volume decreases

id) [Intra pulmenary pressure increises

(P~ only(d)
() (n)and k)

‘-i/lsl and (d)
(a), (b} and (d)

Lo thmﬂhhlhw.h@‘
() They have froe DNA without protain coat.
@  They have RNA with protein cont.

7" Thay have froe RNA without protein coat

E{,l They have DNA with protein coat.
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-
48 Match the following columns and select the

L,y"' Match the following columns and solocy qp,

correct oplion
correct option. [‘d"‘m . Column -1 Column - g .
Cﬂ‘m - l ] rmlfl.ﬂm L] {.‘nhwm.n
(W Floating Ribe i l-ﬂﬂ“'i:”"" butylicum
srcond & &  Trichoderma W Butyne Aad
sovanth rsbe polysporum
) Acromion ) Headolthe (©  Monascus ) Citre Acd
' Higuens® Purpurens
i) Scapula () ﬂ_f'l'l'* id) Aspergillus niger (v Blood chaleste . 5
i Glenmdcavity (Gv) [Domotconnect lowering agens
T withthe sternum (a) (b) () d)
R 1 m v G G
e ‘: o $ @ @ W @ o
r @ : @ 6 vt
@ W v & @ @ ® @ v )
@ 0 =W @ m HD The plant parts whach consist of two generatuins.
W Gm) W o @ one within the other .
_;l,.;"/ Match the following columns and select the ) Pnl!rn: wrains inmde the "n% /1
- cOrTect TPt by Germinated pollen grain with two mak
Column - | Column - 11 gamstod
€}  Seed inside the frua
Greganous, polyphagous (i)  Asteras
> Pt . i)  Embryosac inade the ovule
®  Adultwith radial ) Scorpion o%/ () axd (d)
symmetry and larva - () only
with bilateral symmetry @ (8. (b)and (c)
©  Booklungs (iil) Ctenopiana 18 G
@ Paoluminescence v) Locusta H,ﬁ( Whichﬁi.:tﬂhﬂm'unutmluﬁ!_ﬁtﬂl
@ ® © @ s internction
m @ O G o (@  Sex ratio
& W ) G m (@)  Natabty
...ﬂ'/ o @& 6 6D {-I'II Mortality
@ @ @ O ‘E@*w
@ florets have ' v
j‘ Half inferor ovary m gﬂmw
(I Infenorowary ' 1
(1) Supenorovary nee which

In whach of the following tchpiques, the embryges
mmu*m—m-m

m?*
&) GIFTand ICSI
A5 ZFT und IUT
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j'* verification of the ch . :
Ei %ummnﬂa by R In relation t Gross prumary productivity and Net

2} Meondel
9 Sutton

m Ammonia alone
M  Nitrate glone
M) Ammonia Int_l axygen

Match the following columns and select the

oorrect oplion
Column -1 Caoalumn - 11

@ 6 10pursofl 0 Trygos
wll slits

® Heterocorosl G Cyclosiomes
caudal fin -

(®  Air Bladder Lii)  Chondrichthyes

@ Poisonsting (%) Qusichthyos
a) (b} () b

@ v G G

/ my Gu) v @
@ G w O @
@ v @ 6 @

i‘l.h. Identify the ingaeect statement.
-ﬂf’ﬂﬂlhiﬂﬂmim&nﬂ-m
heart wood is dark in colour, -

Heart wood does not conduct water but grves
mechanioal support.

Bapwood s in conduction of water
and minerals r-l‘uhl J

Whhwmlﬂﬂ

ﬂ
s and ia lighter in colour.

primary productivity of an . which one

of the fullowing statements “M

There 15 no relstionship between Gross
primary productivity and, Nel primary
productity

Iy  Gross primary productivity 1 always-less

than net prumary productivity

c*‘k/ﬂmu prumary productivity @ always more
than net primary productivity

P Uiross prunery productsvity and Net primary
productivity are one and same.

M’I‘xﬁ of the following refer 1o correct exampleis)

of organisms which have evolved due to changes
in environment llmul'ht abaut by snthropogesse—
pctaon 7

——

)  Durwin's Finches dﬂll.ip,“n wlands
Hertmode remistant weeds,
ic) Drt:: resustant eukaryoles,
i) Man<created broeds of domestiosted mnimals
like dogs
q\) only (d)
S only ()
3 (=)and (c)
W ) ic)andd)

Which of the following horinone levels will cause
release of ovum Iwuhtuu]- from the graffian
follicle 7

{1l  Low concentration of FSH
@  High concentration of Estrogen
High concentration of Progesterone

) Low concentration of LH

n ml.r ph:“ facilitates the

(1) PS-110ATP synthase
@S 11 10 Cythyf complex

@  Cytbyfcomplex to P8

) PS-lwNADP*
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H2
—-’l‘,’w’.hich of the following statements 15 poat
correct !
—_—

(1) Genetically engineered insulin is produced
in E-Coli.

In man insulin is ngrm.hu_-utd TH

proansuln

J'ﬂh proinsulin has an extra p-r]:hll-tullﬁi
C-peptide

(4  The functional insulin has A and B chains
hﬂ-ﬁ.ﬁdm:hnhﬂwﬁmnhmdl

106" From hus experimenta, § L. Miller produced amino
acids by mixing the following in a closed flask :

(1) CH, H, NH, and water vapor at 800°C
< CHg Hy NH, and water vapor st S00°C
(3) CHg Hy NH, and water vapor st S00°C
@) CH, H, NH, and water vapor st 600°C

/sem:hw-;u

(Fd]

(1) Thalassemia X linked
@) Hasmophilia Y linked
(3) Pheaylketonurs Autosamal
dominant trait
_/ﬂl:khu-ﬂm - Autosomal
recessive trait,
chromosome-11
,I}r' Embryclogical support for evolution was
disapproved by -
(1) Oparin
__Gr" Karl Ernst von Baer

&  Alfred Wallaoe
{4 Charles Darwin

Prmmd-lud:dtluhlhwqmﬂ:ﬁmln

b

ﬁ U'remin and Henal Caleuh
)Q/Mﬂd%n
110" The enzyme enterokinase helps in conversion of -

(I)  pepsinogen it pepain
-a/'mnmw

caseLnogen LNto casein

14
@ Strobil or cones are found in -
(1)  Equisetum
& Salung
(M Preris
)  Marchannia

eiotic division of the

completed %ﬁ 9

{1) Mlhh--dfunnnufumhﬁ.
ovaEn

@  Priorwovulation

@ At the time of copulation

113 The body of the mulnu fu.u-d withan the funjy,

11

Chalaza
Hilum
Micropyle

Nucellus

th
(2
B}
)

(1) Compound epithelial cells

(2)  Squamous epithelinl cells
Columnar epithelial cells

40 Chondrocytes

115. Which of the following statements about inclussn

bodies 1= incorrect ?

(1) These represent reserve material it
cytoplasm.

(2)  They are not bound by any membrane. r

@) These are involved in ingestion of fosl
particles.

(40 They e free in the cytoplasm.

Hlmlhnphntlmthu'ullhruhﬂ'ﬂ
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menl with refere
an digrative system. i
P —

"'mlpp!ndu anacs from duosdenom
@- e wm opene wnto small et ne

ﬂl Serosa is the innermost layer of the

)"/l-h:':hh the correct state
L

alimentary canal
< Tieum e
leum is n highly cojled part
J,I-ﬂ\/ The ovary is half inferior in e
i Plum
2y Brigal

i3 Mustard
}ﬁ/.".'illnhﬂ
The infretious stage of Plasmodium that enters
the human body 1. :
(P Male gametocytes
2 Trophosoites
&Y Sporosites
] Female gametocytes
,r,(lj - ! E -

| oetus receives some antibodies from
mother. 11 18 an example for passive

1

WEQRE-Ftatement with reference to

immunity.
2  When exposed to antigen Qiving or dead)
antrbodies are produced in the hostarbedy.
It 1a called “Active immunuty”
(3  When ready-made antibodies are directly
given. it 1s called "Pasaive immunity”
g}ﬁ/hﬂi“ immunity 18 quick and gives full
response.
Match the trophic levels with their correct speces
examples in grassland ecosystem
(a0  Fourth trophic level W  Crow
b Second trophit level i Yulture
(© Firsttrophiclevel (u ' Rabbd
()  Thurd trophuc level (v) Gorass
Select the correct option
/hl (b) () d
Yoo m () ()
@ W ) v @
() (W W {w)
{ v) () () @

15

Hz

133" Which 1s the impagiant site of formatign of
glyeoproteins and glvealipids in eukaryotic cells ?
I'__..-——
il Polysimes

L~ Endoplasmic reticulum
{5
£ 1

Peroxisumes

(rolg) bodes

){Idunu.l'y the correct statement with regard to
G, phase (Gap 1) of interphase.
(L} Nuclear Division takes place

Jﬂ-"" DNA synthesis or replication takes place

(5  Reorganisatson of sll cel] components takes
place

Cell is metabolically active, grows but does
not replicate its DNA

y/‘nuﬁrﬂphln nh_rlmhtmnu.
(1 ﬂm:nmd-n-;m-ndm
2y  Binding of mRNA to nbosome
_ " Recognition of DNA molecule
4)  Amnoacylation of tRNA
-‘Iﬁ/ﬁmlhunmlhthﬂmmmmdnﬂﬁ
helix during transcription.
RNA polymersse
@  DNAligase
(5  DNA helicase
4 DNA polymerase
memuh-hw
are
() Lateral roots
.Q Fibrous roots
g Prop reots
. ldentify the statement with reference to
tranaport of
3" Low pC0; in alveoli favours the formatios
of oxyhaemoglobin.
@ Rinding of oxygen with hasmaglobin is
mainly related to partial pressure of O
(%)  Partial pressure of 0Oy can interfers with
0, binding with hassbglobia.
I Hilhru;“hum]jhwmlh
miﬂwr
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H2
_/E:(,./‘?p:h-ct the qgreect statement.

Mn.lulm s associated with hyperglyoemia.
slucocorticods stimulate gluconeogenesis

| 134 Which of the following statements 1 corpyg,,

(1)  Adenine does not pair with thym,,,,
(@  Adenine pairs with thymune ¢
hruu‘h lh

R H-bonds.
Glucagon is associated with hypoglycemin. (@  Adenine pairs with thymine throug,
Insulin acts oa pancreatic cells and H-band. -
Idm Mﬂgm pairs with thymine throygy, they
H-bonds.
Murﬂb‘ symmetnical and acoelomate animals ,
are exemplified by - /l(;ﬂltﬁh the following columns and #eloct th
- correct option.
Column - | Column -1
2y Cwnophora .
(3  Platyhelminthes iseleispioges e e
@ Achal b}  Basophils (1) Phagocytons
{e)  Neutrophils i) Release
130. The oxygenation activity of RuBisCo n histaminase,
photorespiration leads to mﬁm:;fu. destructive
7" 1 molecule of 4-C compound and 1 mblecule enzymes
of2-Ccompound  ° @ Lymphocytes  (iv) Rrlease gramdy
@ 2 molecules of 3-C compound contaming
@ 1 moleculeof 3-C compound histamine
@ | molecule of 6-C compound a) (b)) (o) (d)
" wy i () ()
131, Which one of the is the mgat abupdant @D -0 W O
protegin ? P ‘“'ﬂll/‘ () ) (m)
3| Insulin @ W m avr () ‘
@  Haemogiobin 1138 In a guitar, two strings A and B made of st
(3 Collagen material are slightly out of tune and produce bes
of frequency 6 Hz When tension in 14 1 alght
(4 Lectin decreased. the beat frequency increares to 78
If the frequency of A is 530 He, the ongs
yﬂh:h of the following pairs is of unicellular frequency of B will be -
algne ? (1) 53T Hx
(1)  Chlorelic and Spiruling () 523 Hz
_-,ﬁ'/lnm.hwn and Sargassum # 524 Hz
@  Gelidium and Grocilari (4 536 He
40  Anoboena and Volvex 187. The capacitance of a paralle] plate capacitor

Mummhrﬂmbnﬂwﬂh.mm
place by :

(1)  insects and water
() insectsor wind

”ﬂf waler currents only
(4 wind and water

air as medium is 6 WF. With the introduction®
dielectric medium, the capacitance becnmes W
The permittuvity of the medium is :

(tg=B85% 10~ 12 CIN-1 -1
(1) BOOCEN-1g-1

@ O4x10-VICIN-I§p-2
@ LTTxl0-CIN-Igp-2
) OMx10-WCEIN-1g-2
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% phase difference between displacement and
nece

leration of » particle in & simple harmornie

mation s

) zem

£ wrad
=

4 — rd

2

yind

Light of frequency 1.5 times the threshold
18 incident on & photosensitive material

What will be the photoelectric current if the
1# halved and intensity is doubled

i eem

@  doubled

(3  four imes

©  ome-fourth

=

A spherical conductor of radius 10 cm has s charge
of 3.2x 10~ 7 C distributed uniformly. What is
the magnitude of electric field st & point 15 cm

i
" from the centre of the sphere ?
; [_I =HHIO’HHHF{.‘=J
128 % 107 NIC
@ 12ZBx10°NC
@ 128x10°NIC
1.28 x 10° N/C

L Which of the following graph represents the
vanation of reswstivity (p) with temperature (T) for

copper ?
(n p\
R E
@ p/
T
AN
I L —=_
Ll
T

17

H2

142. For transistor action. which of the following

Statementa 1= correct ”

(I} The base regon must be very than and lghaly
dopsed
Base. emitter nnd collector regions should
have same doping concentrationa
Base. emitter and collector regions should
have anme size

Both ematter junction as well as the collector
junction are forward bissed.

Z)

K ]

4

143 The avernge thermal energy for s mono-stomic gas
15 - (kg » Boltzmann constant and T, abeolute
temperature)
é keT
1

(4] ‘2‘- k“T

@ ; kyT
5

4 E k.T

lujﬁlmmﬂmﬂﬂ!ﬂﬂmﬂll’.
“" the electric potential is found to be 5 V throughout.

+'f magnitude of electnc field in thas region is -
6 NIC

@2 =

@ 05N

@ 1IN

148. A capillary tube of radius r is immersed in water

and water rises in it to a height h. The mass of
the water in the capillury 1a 6 g. Another capillary
tube of radius 2r is immersed in water The mass
of water that will rnse in this tubs is -

(h 2WoOg
@ 25¢g
m b0g
4 100g

Two particles of mass 5 kg and 10 kg respectively
arv attached to the two ends of 8 ngd rod of length
1 m with neghgible mass

The centre of mass of the system from the 5 ki
particle s nearly at a distance of -

1) B0ecm

I @d83em

@ BS0em

4 6Tem
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148

Two cylinders A and B of equal capacity are
connécted to each other via a stop cock. A containg
an ideal gas at standard temperature and pressure
B is completely evaruated The entire sygtem is

thermally mmsulated. The stop 1 suddenly

(1} wsobarc
Zj wothermal

T adisbatc

4 wochone

-"fhturrnrvqmndmhrrnh{rrrhrmd in DNA

10-% ], This value 1o ¢V is nearly
(] V] 000
) (]

T o

148. A ball is thrown vertically downward with a

velocity of 20 m/s from the top of a tower. It hits
the ground after some time with a veloenty of
BO m/s. The height of the tower is - (g= 10 m/s®)

) H0m
@ 360m
@& 30m
4 320m

180. The energy equvalent of 0 5 g of 8 substance is

(1) 05x101%J
@ 4A5x10'%J
@ 45x10M3)
@ 15x10'%J
151. The solids which have the negative temperature
coeflicsent of resistance are
(1) insulstors and semiconductors
@ metals
@  msulators only
(4  semuconductors only

-

ﬁ:-
g
@

electron is accelerated from rest through a
potential difference of V volt. If the de Broglie
wavelength of the electron is 1 227 = 10 P nm_ the

potential difference s
104V

1wy

107V

@ 1wV

18

1054

1565,

A Jong solenod of 50 cm length having I”‘“u;m
carries o current of 2.6 A The magnet, Wk
the centre of the solenoid is

o= dnx 10" TTmA™D
314x10-%T
G248 10T
F14x10°4T
628x10°3T

1
Wi
{3
i

The ratio of contributions made by the eles<nc i)
and magneat field components (o the lﬂll'ﬂ“[rd‘
an electromagnetic wave 18 : {(€=dpced of
electromagnolic waves)

m 1
& c:l
@ 1:1
4 1l:e

A short electric dipole has & dipole momem o
16 % 10 ¥ C m. The electric potential due to the
dipole at & point st a distance of 0.6 m (rom the
centre of the dipale, situated on a Line making
anigle of 60° with the dipole axis is:

[—'—zanm" N m?rc2 ‘
dmeq

]
2
(®
(4

2
B0V

200V
400V

An iron rod of susceptibility 599 1s subjected 04
magnetising field of 1200 A m~!
permeability of the matenal of the rod 15

(pg=4=x10""TmA" Y

) 249%10""TmA-!
@ 249x10°'TmA-!
@ B0x10""TmA-!

) Z24ex10°%TmaA-!

A body weighs T2 N on the surface of the
What is the gravitational force on it at 8

equal to half the radius of the earth ?
() N
@ 48N
m MN
4 JON
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168 A screw gauge has least count of 0.0] oun and
there are 50 divisions in ite circular scale

The pitch of the screw Enuge ia

1) 1.Omm
@ 001 mm
@ 025mm
4 0.5mm

169, The quantitice of heat required to rase the
temperature of two solid copper spheres of radii
ty and r, (¢, = 1.5 ry) through | K are in the

ratao
)
Y 3
27
@ 5
g
® 3
a
4 3

1 o bodies of mass 4 kg nnd 6 kg are tied to the
}/::dlnh massless string, The string passes over
a pulley which is frictionless (see figure). The
acceleration of the system in terms of scceleration

due to gravity (g) 18 :
4 kg

6 kg
( g'10
& g
@ e
4@ ob

1, Aasume of wavelength 600 nm w coming
> h-ﬂ%ﬂ:hdmﬂhw

'hmqwﬂhﬂﬂmdllﬂh:

6.00% 10~ 7 rad
@ S66x10"7red
@ 1.83x10" 7 rad

4 7T32x10"7red
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162 The increase in the width of the depletion region
in a p-n junction diode s due W

i incresse in forward current

(H  forward bins only

#  roverse bias only

A

168. Light with an average flux of 20 Wiem? falls on a
non-refllecting surface st normal incidence having
surface nrea 20 em?. The onergy received by the
surface during time span of 1 minute is:

both forward buas and reverse bias

(1) 48x10%d
@ 10x10%)
@ 12x10'd
() 24x10%

The mean free path for a gas, with molecular
dismeter d and number density n can be expressed

T
1
m J2 nzw'd’
1
@ :2 nzd
I
o J2 ned?

y J2 nllmi'

168. A 40 uF capacitor is connected to n 200 V., 50 He
ac supply. The rms value of the current in the

circuit w, nearly -
(  2/IA
@ L7A
@ 208A
4 2BHA




H2
166" The color code of & resistance is given below : 168, A seres ummt“mhnﬂgﬁh
source. When L is removed from the cirey, g

phase difference between curremy and y,

—

-
Yellow Violet Brown Gold the phase difference is again r betwees

The values of resmstance and tolerance, respectrvely. and voltage Tlmﬂ.r]:Jnl:u-llrerf.'llr.:l.m-«:Ifl:lugtuu.!'iIlII
_— Mm =10
1] AT0 L 6%
_D"’-I‘-"ﬂhl:l.h ) =ero
47k 10% H 05
9 47k 5% @ 10

)’AmMLnammum
from a fixed support. The length of the wire J!.’Dilmmiﬂmuhtnulre:
wuhm“uuwmm _yy"[Ml."T‘ti

—_—
: : :
ﬁﬂﬂd;mh?minﬂﬂuu ® [MLT-7
g All, -1 @  (MLAT-Y
o M @ [MLT-%)
AL
@ 2eiy-L 171 A cylinder contains hydrogen goe at pressured
AL 249 kPa and temperature 27°C. \
0 EM% Its density is: (R=8.3J mol“ 'K~ 1)
_)Awmmmummmmu: M 0.02kg/m’
@ 05 kg/m? o

P D¢ (M 02 kg/m?
B 3 (© 0.1 kg/m? |

'

W Ao B Y 1 Ihltm'qullhuutthunl'iw-thennhli
: : ; lfﬂmmlwﬁde-h-pmmnﬂdﬂ
TR o 2hm.
1 1 L A

/a B Y M 6kNm l

0 L] L] - i
0 1 0 @ 6iNm
| ﬂ [i] - 11

N A B X - i
At ~6i Nm _
e % 1 . . . '
% iy 178, For which one of the following, Bohr model #
ke (o a1 of th luluql‘!uau

@ A B Y (1)  Bingly ionised neon atom i Ne *
3 .: : @  Hydrogen atom |
| 0 1 @  Singly ionised helium stom (He *)
1 | 1] 4 Deuteron stom
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174, When & uranium 1Bcdirpe

i heutron. it generates

and :

m YK
/ ‘14 Ba

@ War

@ 'YK

"U&/Tukml:intumudlh.- sugnificnnt figures, what
t# the valuo of 9.99 tm — 0.0099 m 7

-

0.5 1
@ 99801m
@ DUm
4} 95980m

126—The Brewsters angle 1, for an tnterface showld b -
; (0 iy =%
T e <30
@ 0 <i <4y
(4) 45" <y, <00

177. A charged particle having drift velocity of
7.5x10°4 m &”! in an electric field of
$%107 ' Vi ~! has a mobility in m? V=171

of:
7 225x10-15

@ 225x10"
o 25x 108
4 25x10"%

2 ?w.mmwmhm

between sources s ;
of the from the 1
then width becomes ©

(1)  one-feurth

@  double

M half

H2

1T A resistance wire connected in the Jeft gap of
metre bridge balances s 10 {} resstanos mn the
right gap at a point which divides the bridge wure
in the ratso 3 : 2. 1§ the length of the resistance
wire s 1.5 m. thin the length of 1 11 of the
resistyno: Wik 18

fm

o= 10
@ 10x1074m
@ 1Loxi0"'m
4 1o6=x10-'m

180, A ray is incadent at an anghe of incidence ¢ on one
surface of s small angle priam (with u.n;l:-dpr'ﬁm
A) and smerges normally from the oppomte surface.
If the refractive index of the material of the pnism
i# . then the angle of inodence is nearly equal

o
i

o] i
2
2A

[E )] m

W pA

-ala-
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